
H
andles

37

Hinges and Industrial Hardware

 To Place Order:         800.433.5554            order@spep.com

Plastic HVAC L-Handles
Escutcheons/Latch Housing(s)

Part Number Material/Finish Description
Dim A

Shaft Length
Dim B

Grip Range

1154E-25

nylon/
textured black

adjustable cam 
escutcheon

2.26 [57.5] 0.79 [20.0] - 0.98 [25.0]

1154E-50
adjustable cam 

escutcheon
3.25 [82.5] 0.79 [20.0] - 1.97 [50.0]

1154E-501* fixed cam escutcheon 3.25 [82.5] 0.79 [20.0] - 1.97 [50.0]

1154E-75
adjustable cam 

escutcheon
4.23 [107.5] 0.79 [20.0] - 3.07 [78.0]

1154E-100
adjustable cam 

escutcheon
5.22 [132.5] 3.35 [85.0] - 3.94 [100.0]

1154E-1001* fixed cam escutcheon 5.22 [132.5] 3.35 [85.0] - 3.94 [100.0]

1154E-Q25 ‡
quarter turn mount

adjustable escutcheon
2.26 [57.5]

1154E-Q50 ‡
quarter turn mount

adjustable escutcheon
3.25 [82.5]

 � for use with 1154 series out-swing or in-swing l-handles
 � for multi-point latching (without use of handle), plastic 
cover available as P/N 1154C (sold separately)
 � assembly includes: 
(1) grommet 
(1) push on nut 
(1) M10 nylock nut 
(1) serrated-flange nut

 � * assembly includes (1) M10 thin hex nut instead of 
serrated-flange nut
 �  ‡ assembly includes: 
(1) body nut 
(1) M10 nylock nut 
(1) serrated-flange nut

Plastic HVAC L-Handles Accessories

p/n 1154E-100

p/n 1154E-Q25

Plastic Cover 
p/n 1154C

M6 X 1 THD.

SHAFT SETUP FOR
 RIGHT HAND
 ROTATION

42.01.65

 90° 

M10 X 1.5 THD.

 DIM "A" 

.50

GRIP RANGES
DIM "B"

12.7

12.0.47

.3125
SQUARE

7.938

1.77 45.0
THREADS LENGTH

4.80.189

12.0.47

.508 12.90

PART NO. DIM "A" DIM "B"
GRIP RANGES

1154E-501 3.25 [82.5] .79[20.0] TO 1.97[50.0]

1154E-1001 5.22 [132.5] 3.35[85.0] TO 3.94[100.0]

1.77 45.0
THREADS LENGTH

M10 X 1.5 THD.

M22 x 1.5 THD.

.51 13.0

SQUARE
.3125

12.0
7.938

 DIM "A" 

.47

.7 18
REF.

M6 X 1 THD.

SHAFT SETUP FOR 
RIGHT HAND 
ROTATION

42.01.65

 90° 

PART NO. DIM "A"

1154E-Q25 2.26 [57.5]

1154E-Q50 3.25 [82.5]

.394 10.00

.768 19.50
SQUARE

PART NO. DIM "A" DIM "B"
GRIP RANGES

1154E-25 2.26 [57.5] .79[20.0] TO.98[25.0]

1154E-50 3.25 [82.5] .79[20.0] TO 1.97[50.0]

1154E-75 4.23 [107.5] .79[20.0] TO 3.07[78.0]

1154E-100 5.22 [132.5] 3.35[85.0] TO 3.94[100.0]

12.0.47

4.8.19
REF.

.51 12.9

M10 X 1.5 THD.

45.01.77
THREADS LENGTH

12.0

GRIP RANGES

 DIM "A" 

DIM "B"

.47

SQUARE
7.938.3125 .50 12.7

M6 X 1 THD.

SHAFT SETUP FOR
 RIGHT HAND
 ROTATION

42.01.65

 90° 

CUT-OUT FOR RH & LH ROTATION CUT-OUT FOR SINGLE HOLE

8MM Rod Linkage

Part No.
Material / 

Finish
Description

C23
die cast zinc, 

steel / 
zinc plated

multi-point
linkage

Safety Catch

Part No.
Material / 

Finish
Description

C24
steel / 

zinc plated
inside 

safety catch

Inside Handles w/ Red Plastic Grip

Part No. Description

364-01 In-line handle (90° angle)

364-02 diagonal handle (45° angle)

 �material: steel handle with plastic grip
 � finish: zinc plated handle with red textured grip
 � for use on handles with a .313 [7.94] sq. shaft

364-01 364-02

Additional Components

Description Page No.

cam rollers 60

cams 134

rods & rod 
guides

135


